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DOWS30 18589.69 (+1.40%)
NASDAQ 5251.07 (+1.11%)
S&P500 2163.26 (+1.11%)

NIKKEI225  16251.54 (-5.36%)
SHANGHAI 312837 (-0.62%)

FTSE100 6911.84 (+1.00%)
DAX30 10616.01 (+1.56%)
CAC40 454348 (+1.49%)
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WTI 4518 (+0.6%)
COMEXZ 127350 (-0.1%)

5. MY U X®

[Am 195838 (- 2.25%)
IAAE 599.74 (- 3.92%)
fl/ety{ 1149.50 (+14.50)
KTB 110.50 (+ 0.15)
LKTB 130.60 (+ 0.60)
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CDO1d) 1.3900% ( 0.00bp)
ly  13980% (-2.10bp)
3y  14020%  (-2.30bp)
Sy  14930%  (-2.10bp)
10y 16710% (-3.10bp)
20y 1.7680%  (-3.00bp)
30y 1.7890% (-3.20bp)
50y 1.7810% (-3.10bp)

7. 2C AQ AmpC

N -8.30bp  (-0.40bp)
2Y -11.10bp  (-1.15bp)
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3y -10.20bp  (-1.20bp)
5Y -14.55bp  (-2.90bp)
10Y -20.60bp  (-2.40bp)

8.IRS/CRS 5%

*IRS, IXM= ZME Z2| thF St Ot & 5 1008 Ol 58 ot & ¥asdol 2 2971

* CRS 2|, H2f-Y o8 2522 A stefe Orz. Oj= ojde| ez X2 50 71 2 #HE
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RS 22|

1Y 13250% (-2.00bp)
2Y 1.3000% (-2.75bp)
3y  1.3000% (-3.50bp)
5Y  1.3475%  (-5.00bp)
7Y  13950%  (-5.50bp)
10Y 1.4650%  (-5.50bp)

1*2y  -2.50 (-0.75bp)
2*3Y 0.00 (-0.75bp)
2*5Y 475 (-2.25bp)
3*5Y 475 (-1.50bp)
5*7Y 475  (-0.50bp)
5*10Y 1175 (-0.50bp)

*CRS 22|

1Y 0.9550%  (-7.50bp)
2Y 0.8850%  (-6.50bp)
3Y 0.8550%  (-7.50bp)
5Y 0.8350%  (-8.50bp)
7Y 0.8050%  (-9.00bp)
10Y 0.8100% (-9.00bp)
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